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Name: __________________________________


1
In the diagram below of right triangle ACB, altitude [image: image1.png]oD



 is drawn to hypotenuse [image: image2.png]AB



.

[image: image3.png]



If [image: image4.png]


 and [image: image5.png]12



, what is the length of [image: image6.png]AD



?

	1)
	32

	2)
	6

	3)
	3

	4)
	4



2
In the diagram below of right triangle ABC, [image: image7.png]oD



 is the altitude to hypotenuse [image: image8.png]AB



, [image: image9.png]


, and [image: image10.png]


.

[image: image11.png]



What is the length of [image: image12.png]BD



?

	1)
	5

	2)
	9

	3)
	3

	4)
	4



3
In the diagram below, [image: image13.png]oM



 is an altitude of right triangle PQR, [image: image14.png]PM =28



, and [image: image15.png]R =18



.

[image: image16.png]



What is the length of [image: image17.png]oM



?

	1)
	20

	2)
	16

	3)
	12

	4)
	10



4
In the diagram below, the length of the legs [image: image18.png]AC



 and [image: image19.png]BC



 of right triangle ABC are 6 cm and 8 cm, respectively. Altitude [image: image20.png]oD



 is drawn to the hypotenuse of [image: image21.png]MABC



.

[image: image22.png]6 cm

Tom




What is the length of [image: image23.png]AD



 to the nearest tenth of a centimeter?

	1)
	3.6

	2)
	6.0

	3)
	6.4

	4)
	4.0



5
In the diagram below of right triangle ABC, altitude [image: image24.png]BD



 is drawn to hypotenuse [image: image25.png]AC



, [image: image26.png]16



, and [image: image27.png]


.

[image: image28.png]16




What is the length of [image: image29.png]BD



?

	1)
	[image: image30.png]




	2)
	[image: image31.png]




	3)
	[image: image32.png]




	4)
	12



6
In the diagram below of right triangle ABC, altitude [image: image33.png]oD



 is drawn to hypotenuse [image: image34.png]AB



.

[image: image35.png]12




If [image: image36.png]


 and [image: image37.png]12



, what is the length of altitude [image: image38.png]oD



?

	1)
	6

	2)
	[image: image39.png]




	3)
	3

	4)
	[image: image40.png]






7
In right triangle ABC shown in the diagram below, altitude [image: image41.png]BD



 is drawn to hypotenuse [image: image42.png]AC



, [image: image43.png]12



, and [image: image44.png]


.

[image: image45.png]



What is the length of [image: image46.png]AB



?

	1)
	[image: image47.png]




	2)
	6

	3)
	[image: image48.png]




	4)
	9



8
Triangle ABC shown below is a right triangle with altitude [image: image49.png]AD



 drawn to the hypotenuse [image: image50.png]BC



.

[image: image51.png]10




If [image: image52.png]


 and [image: image53.png]10



, what is the length of [image: image54.png]AB



?

	1)
	[image: image55.png]




	2)
	[image: image56.png]




	3)
	[image: image57.png]




	4)
	[image: image58.png]






9
In the diagram below of right triangle ABC, [image: image59.png]oD



 is the altitude to hypotenuse [image: image60.png]AB



, [image: image61.png]


, and [image: image62.png]


.

[image: image63.png]



What is the length of [image: image64.png]OB



?

	1)
	[image: image65.png]




	2)
	[image: image66.png]




	3)
	[image: image67.png]




	4)
	[image: image68.png]






10
In [image: image69.png]


, [image: image70.png]£ PRO



 is a right angle and [image: image71.png]RT



 is drawn perpendicular to hypotenuse [image: image72.png]


.  If [image: image73.png]


, [image: image74.png]


, and [image: image75.png]


, what is the length of [image: image76.png]


?

	1)
	9

	2)
	12

	3)
	3

	4)
	15



11
The accompanying diagram shows a 24-foot ladder leaning against a building.  A steel brace extends from the ladder to the point where the building meets the ground.  The brace forms a right angle with the ladder.

[image: image77.png]



If the steel brace is connected to the ladder at a point that is 10 feet from the foot of the ladder, which equation can be used to find the length, x, of the steel brace?

	1)
	[image: image78.png]




	2)
	[image: image79.png]




	3)
	[image: image80.png]




	4)
	[image: image81.png]






12
The accompanying diagram shows part of the architectural plans for a structural support of a building.  PLAN  is a rectangle and [image: image82.png]A5 1IN



.

[image: image83.png]



Which equation can be used to find the length of [image: image84.png]A5



?

	1)
	[image: image85.png]




	2)
	[image: image86.png]&

.
>





	3)
	[image: image87.png]




	4)
	[image: image88.png]






13
In the diagram below of right triangle ABC, an altitude is drawn to the hypotenuse [image: image89.png]AB



.

[image: image90.png]



Which proportion would always represent a correct relationship of the segments?

	1)
	[image: image91.png]Nla

<ln





	2)
	[image: image92.png]Rla

wln





	3)
	[image: image93.png]Rl

<ln





	4)
	[image: image94.png]ol
1
.







14
In right triangle ABC shown below, altitude [image: image95.png]BD



 is drawn to hypotenuse [image: image96.png]AC



.

[image: image97.png]



If [image: image98.png]


 and [image: image99.png]10



, determine and state the length of [image: image100.png]AB



.

15
In the diagram below, [image: image101.png]


 is a [image: image102.png]3-4-5



 right triangle.  The altitude, h, to the hypotenuse has been drawn.  Determine the length of h.

[image: image103.png]




16
Four streets in a town are illustrated in the accompanying diagram.  If the distance on Poplar Street from F to P is 12 miles and the distance on Maple Street from E to M is 10 miles, find the distance on Maple Street, in miles, from M to P.

[image: image104.png]




17
The drawing for a right triangular roof truss, represented by [image: image105.png]MABC



, is shown in the accompanying diagram.  If [image: image106.png]ZABC



 is a right angle, altitude [image: image107.png]


 meters, and [image: image108.png]Do



 is 6 meters longer than [image: image109.png]AD



, find the length of base [image: image110.png]AC



 in meters.

[image: image111.png]




18
In the diagram below of right triangle ACB, altitude [image: image112.png]oD



 intersects [image: image113.png]AB



 at D.  If [image: image114.png]


 and [image: image115.png]


, find the length of [image: image116.png]oD



 in simplest radical form.

[image: image117.png]




19
In right triangle ABC below, [image: image118.png]oD



 is the altitude to hypotenuse [image: image119.png]AB



.  If [image: image120.png]


 and the ratio of AD to AB is 1:5, determine and state the length of [image: image121.png]BD



.  [Only an algebraic solution can receive full credit.]

[image: image122.png]




20
In right triangle FGH shown below, [image: image123.png]ms GHF =90



, altitude [image: image124.png]Hr



 is drawn to [image: image125.png]F



, [image: image126.png]


, and [image: image127.png](=15



.

[image: image128.png]



Determine and state the length of [image: image129.png]G



.  Determine and state the length of [image: image130.png]Hr



.  [Only algebraic solutions can receive full credit.]

21
In the diagram below, right triangle RSU is inscribed in circle O, and [image: image131.png]


 is the altitude drawn to hypotenuse [image: image132.png]


.  The length of [image: image133.png]RT



 is 16 more than the length of [image: image134.png]TS



 and [image: image135.png]


.  Find the length of [image: image136.png]TS



.  Find, in simplest radical form, the length of [image: image137.png]RU



.


[image: image138.png]




1
ANS:
4

Let [image: image139.png]


.  [image: image140.png]36x = 12°





REF:
080922ge

2
ANS:
4

[image: image141.png]6% = x(x+5)
36 =2+ 5x
0=x"+5x-36
0= (x+9)(x-4)

x=4




REF:
011123ge

3
ANS:
3

[image: image142.png]x=12




REF:
061506ge

4
ANS:
1

[image: image143.png]


 since [image: image144.png]MABC



 is a 6-8-10 triangle.  [image: image145.png]



REF:
060915ge

5
ANS:
1

[image: image146.png]



REF:
061128ge

6
ANS:
1

[image: image147.png]



REF:
011308ge

7
ANS:
3

[image: image148.png]


.  [image: image149.png]N PEIRECINDN Fr Sy CON FRE Y




REF:
061327ge

8
ANS:
3

[image: image150.png]



REF:
081326ge

9
ANS:
3

[image: image151.png]



REF:
081528ge

10
ANS:
4

[image: image152.png]


.  [image: image153.png]4x+

Sx=5(3)=15





REF:
011227ge

11
ANS:
1
REF:
010619b

12
ANS:
1
REF:
010920b

13
ANS:
3
REF:
081410ge

14
ANS:


[image: image154.png]8(10+8)
- 144

x=12




REF:
061431ge

15
ANS:


2.4.  [image: image155.png]


  [image: image156.png]


   [image: image157.png]nt
B=32.18

576 =24

ab





REF:
081037ge

16
ANS:


8.  [image: image158.png]10+x _12
2 x
x(10+5) =144
2 +10x-144 =0
(x+18)(x -8 =0
x=8





REF:
060828b

17
ANS:


10.  Let [image: image159.png]


  [image: image160.png]x(x+6)=4°
2+ 6x-16=0
(x+8)(x-2)=0

x=2



.  Since [image: image161.png]DC=8, AC=10



.
REF:
080932b

18
ANS:


[image: image162.png]


.  [image: image163.png]



REF:
fall0829ge

19
ANS:


[image: image164.png]



REF:
011437ge

20
ANS:


[image: image165.png]A(x+ 16
o+ 167-225=10
(x+25)x-9)=0
9




  [image: image166.png]



REF:
011638ge

21
ANS:


[image: image167.png]


  [image: image168.png]A(x+ 16
o+ 167-225=10
(x+25)x-9)=0
9




   [image: image169.png]2534 =y

5.3 =y




REF:
011538ge


